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1 JREA KZE 4 plin =2 35 32 67 25
1 B N5 4 B3P 34 33 67 25
3 TIE 158 3 KIRFEBTAFE 35 33 68 23
4 EH AH 1 PR SF 38 31 69 22
4 HHEFE 1 KT 35 34 69 21
6 Ei5 RE 1 bl =2 36 35 71 20
7 AN 1 bl N=2 36 36 12 19
8 HEF K 4 T KF 38 35 73 18
9 FEFx HREP 1 EaRipk = 39 35 74 17
9 HhE BBA 3 KBRZF A 35 39 74 17
11 MR S 2 TEERF 40 35 75 15
11 TP -2 2 Pl =2 37 38 75 15
11 Bk vE+ 1 EaRipikd =2 37 38 75 15
14 =il HiE 2 Eapis=ali =2 39 37 76 12
14 HEF s 1 EERF 39 37 76 12
16 R KRR 1 Eapipik = 38 39 77 10
17 HHBN 4 KBREZEARF 41 37 78 9
17 85 MK 3 EapiEalyN=2 39 39 78 9
19 EE R 2 KT 42 39 81 7
19 EH E2N 4 WEERF 41 40 81 7
19 =18 B 3 A 41 40 81 7
22 KE N 3 KBRFBTAFE 42 40 82 4
23 AT KR 3 BEAFE 46 37 83 3
23 BB BA 3 ABREFBTAF 43 40 83 3
23 =15 B 2 REEH AT 43 40 83 3
23 =8 R¥F 2 Eafitpe=a 42 41 83 3
27 RO KR 3 EEL A 42 47 89
28 RE—B 2 FEL A 47 43 90
29 MO M= 3 el =2 44 48 92
30 NH &% 2 EELAFE 51 45 96
30 £l Ht 2 BEFEEIERF 50 46 96
32 HEF FEa] 2 KBRF TR 55 42 97
33 AR T 2 K F PR 50 48 98
34 i K2 4 Eapi=ali =2 51 48 99
34 B B 4 b=l N=2 48 51 99
36 LIS FERER 2 EELAE 53 47 100
36 FHEREX 3 EaipNEa 52 48 100
36 AR B 4 Bl N=2 47 53 100
39 RERHER 4 Gt =2 56 49 105
40 TEINFRE 4 REPKRZFE 59 52 111
41 A8 ZKER 4 EaFia=al i N=a 67 62 129
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